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Question 1: The sum of the solutions of the equation (14 — 2x )® = 4is equal to:
A) -8 B) 14 C) -14 D) 56 E) 8

Answer: (B): 14

Question 2:

Solve the following equations:
X x-1_ X

a =
@) X -1 x+1 x?-1
(b) (5x2-6)" =x

(c)x%+7x%:8
d) V2-+/x —2Jx +1=0

1

Answer: (a): SS :{E} (b): ss={v2,43}  (c): SS={-512,1} (d):

Question 3:
The SUM of the real solutions of the equation

(2t —1)7% + (16t —8) 2 =3 is
(a)-2 (0)14 ()14
d)-12 ()12

Answer: (d): sum of real solutions=-13+1=-12

Question4:

The solution set of the equation: 2vx —1=+/2x —1+1 consists of
(a) only one positive integer.
(b) two negative integers.
(c) one negative and one positive integers.
(d) only one negative integer.
(e) two positive integers.
Answer : (a) only one positive integer. SS = {5}

sS = {1}
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